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4 EIFEF O£ izl 7 i
b - _ B B=F
GEbS) B=F &t — — —
m A =8 =8 =B B LB =iE & LB
KR 1 Okg 9|#HA 0 13,160 1,450 14,610 0 0 0 1,728 0 1,080 1,728 0 1,080
AL 10kg 36|85 0 4,220 390 4,610 0 0 0 3,780 0 2,700 3,780 0 2,700
JIE5 4dkg ES 0 364 2,200 2,564 0 0 0 1,944 0 324 1,944 0 324
H¥ 10kg 8|k 0 3,100 0 3,100 0 0 0 1,728 0 864 0 0 0
Fry~NY 10kg 12| F% 0 14,070 1,200 15,270 0 0 0 0 1,512 0 0 0
IEFINAE 0. 2kg® 10|74 5% 0 1,539 144 1,683 0 0 0 76 0 65 76 0 65
2 L bke 111\ =E 0 2,690 0 2,690 0 0 0 4,104 0 2,376 0 0 0
IZo 0. lkg=® 39|&%0 0 464 0 464 0 0 0 86 0 76 0 0 0
L&X 10kg 8|k 0 1,830 0 1,830 0 0 0 3,024 0 1,836 0 0 0
I Skg 12| F% 0 4,480 0 4,480 0 0 0 0 2,268 0 0 0 0
k<t 4kg 9|#HA 0 5179 0 5,179 0 0 0 0 1,620 0 0 0 0
IZbhvbh 0. 2kg/¥v 7 10|74 5% 0 1,794 0 1,794 0 0 0 162 0 32 0 0 0
E—<> 0. 15kg 45|25 0 2,085 0 2,085 0 0 0 108 0 86 0 0 0
MAAEYD 1lkg 23|EH 0 1 0 1 0 0 0 2,160 0 1,296 0 0 0
HEE bLkg 8|k 0 40 0 40 0 0 0 1,620 0 1,296 0 0 0
E#E L 10ke 46|EEIR 0 830 0 830 0 0 0 3,672 0 3,240 0 0 0
X—=24>» L 10kg Elo:3E 0 10 0 10 0 0 0 3,240 0 2,808 0 0 0
EFH LK 20kg 1|dtia 0 5,820 0 5,820 0 0 0 3,240 0 3,024 0 0 0
ICAIZC Tkgxv b ACES 0 260 0 260 0 0 0 1,836 0 1,080 0 0 0
EHE 0. lkg/tv o 2|5 0 111 0 111 0 0 0 194 0 76 0 0 0
w2 0. lkg/vv 7y ACES 0 303 0 303 0 0 0 76 0 65 0 0 0
ZADEEH 0. 2kg/fv 7 A= 0 686 252 938 0 0 0 86 0 54 86 0 54
Lol 0. lkgiv o A= 0 55 0 55 0 0 0 0 140 0 0 0 0
FWE 0. lkg/tv o 15(#8 0 101 0 101 0 0 0 0 124 0 0 0 0
Ny 7HLry 1 Tke 70K 0 459 510 969 0 0 0 8,640 0 6,480 0 0
HEM 10kg 43[R 0 290 0 290 0 0 0 3,780 0 2,484 0 0
JL—77)—y 17Tkg 58( ks 0 102 680 782 0 0 0 0 5,940 0 0 0
BMALEY 17kg 70K 0 442 0 442 0 0 0 10,260 0 5,940 0 0
BES 8. 2kg 84|17V 0 90 82 172 0 0 0 5,616 0 3,780 0 0
NFF 1 3kg 65|74 )Y 0 10,744 0 10,744 0 0 0 4,158 0 2,160 0 0
B X & 3 34 74,693 26,687 101,414 0 0 0 0 0 0 0 0
2 £ & 3 0 18,915 8,965 27,880 0 0 0 0 0 0 0 0
s a B 34 93,608 35,652 129,294 0 0 0 0 0 0 0 0
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% & HFE ¥ 0% i = i
E i EtE - — ast IEN S B=F
m B =B ZfE =B HiE ZfE = & ZfE
KR 1 0kg 9|#A 0 14,930 1,300 16,230 0 0 0 1,728 0 1,080 0 1,080
AZ 10kg 36|1EE 0 2,460 0 2,460 0 0 0 3,780 0 2,700 0 0
ZIES  4dkg 5 0 7,184 6,942 14,126 0 0 0 1,944 0 324 0 324
B3 10kg 8|2 0 1,220 0 1,220 0 0 0 1,728 0 864 0 0
v~y 10kg 12|F% 0 16,720 600 17,320 0 0 0 0 1,512 0 0
IZ5NAZE 0, 2k 10|35 0 510 260 770 0 0 0 76 0 65 0 65
# L b5kg 11[B=E 0 2,081 270 2,351 0 0 0 4,104 0 2,376 0 2,376
125 0. lkg=® 39|=An 0 323 35 358 0 0 0 86 0 76 86 0 76
L&z 10kg 8|2 0 1,130 0 1,130 0 0 0 3,024 0 1,836 0 0 0
#AM  Ske 12|F% 0 3,975 0 3,975 0 0 0 0 2,268 0 0 0 0
FF 0. 37kg® 20A 39|=An 0 1,404 0 1,404 0 0 0 0 162 0 0 0 0
F~ bk 4kg 9|#A 0 2,282 0 2,282 0 0 0 0 1,620 0 0 0 0
IZhvh 0. 2kg/tv o 10|35 0 591 0 591 0 0 0 162 0 32 0 0 0
E—<> 0. 15kg® 45| =i 0 1,344 0 1,344 0 0 0 108 0 86 0 0 0
H#E Ske 8| 2R 0 915 0 915 0 0 0 1,620 0 1,296 0 0 0
HFEWEE 1 0kg 2|5 & 0 980 0 980 0 0 0 3,564 0 1,080 0 0 0
TRERFE 1 2kg 2|5 #H 0 5,964 15,336 21,300 0 0 0 3,564 0 540 0 540
TR LK 20kg i Bl#:5 0 3,240 3,200 6,440 0 0 0 3,240 0 3,024 0 3,024
IZALZS Tkgx vy b 2|57 0 119 190 309 0 0 0 1,836 0 1,080 0 1,080
AMEE 0. lkg/sv v 2|57 0 264 0 264 0 0 0 194 0 76 0 0 0
BmHT 0. lkg/tvy 2|57 0 174 0 174 0 0 0 76 0 65 0 0 0
ZDEE 0. 2kg/tv v 4| = 0 672 0 672 0 0 0 86 0 54 0 0 0
KLl 0, lkgssv s 4| = 0 272 0 272 0 0 0 0 140 0 0 0 0
FUE 0. 1lkg/svz 15|#8 0 128 0 128 0 0 0 0 124 0 0 0 0
NLvoFHLry 17kg 70| 0 153 0 153 0 0 0 8,640 0 7,560 0 0 0
JL—77L—>Y 1Tkg 58| kL3 0 170 0 170 0 0 0 5,940 0 5,400 0 0 0
BWALEY 17kg 70| 0 102 0 102 0 0 0 0 10,260 0 0 0 0
FaKxy 18FE 5kg 40|42k 0 240 0 240 0 0 0 0 4,104 0 0 0 0
KJES 8. 2kg 84|F Y 0 459 0 459 0 0 0 5,940 0 3,780 0 0 0
NFF 1 3kg 65|74 0 8,105 0 8,105 0 0 0 4,320 0 1,674 0 0 0
¥ X & 3 14 76,717 28,355 105,086 0 0 0 0 0 0 0 0 0
2 2 & 3 0 11,801 3,991 15,792 0 0 0 0 0 0 0 0 0
woA 3 14 88,518 32,346 120,878 0 0 0 0 0 0 0 0 0
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o =] =B =B =B & =B =B & =B
KR 1 Okg 9|HEA 0 17,480 0 17,480 0 0 0 1,728 0 1,080 0 0 0
AZ 10kg 36|ES 0 5,420 700 6,120 0 0 0 3,780 0 2,700 3,780 0 2,700
Fy~Y 10kg 12|F% 0 17,250 450 17,700 0 0 0 0 1,512 0 0 1,512 0
IEFO5NAE 0. 2kg& 10|35 0 2,130 2,130 0 0 0 76 0 65 0 0 0
#Z L bkg 11 =% 0 1,979 1,979 0 0 0 4,104 0 2,376 0 0 0
I 0. 1kgx 39|=%n 0 450 450 0 0 0 86 0 76 0 0 0
LZX 10kg 8|k 0 2,350 2,350 0 0 0 3,024 0 1,836 0 0 0
I 5kg 12|F% 0 5,378 350 5,728 0 0 0 0 2,268 0 0 2,268 0
F~ b 4dkg 9|~ 0 4,063 4,063 0 0 0 0 1,620 0 0 0 0
IzZbhb~b 0. 2kg/Xv 7 10|35 0 1,002 1,002 0 0 0 162 0 32 0 0 0
E—<> 0. 15kg& 45 = I 0 1,593 1,593 0 0 0 108 0 86 0 0 0
HEE bHkg 8|Z 0 1,065 210 1,275 0 0 0 1,620 0 1,296 1,620 0 1,296
E#HZE L 10kg 46|E '8 0 2,270 3,640 5,910 0 0 0 4,320 0 4,104 4,320 0 4,104
X—=04>v L 10kg 1|dvimE 0 10 0 10 0 0 0 3,240 0 2,808 0 0 0
HWRF 1 0kg 2[5% 0 6,140 1,800 7,940 0 0 0 3,564 0 1,080 3,564 0 1,080
THERF 1 2kg 2|57 0 23,136 36,288 59,424 0 0 0 3,564 0 540 3,564 0 540
E#& LK 20kg 1|dvimE 0 9,790 2,500 12,290 0 0 0 3,240 0 3,024 3,240 0 3,024
ICAICK Tkgxvy b 2|B & 0 1,639 72 1,711 0 0 0 1,836 0 1,080 1,836 0 1,080
EME 0. lkg/tvo 2|B& 0 198 0 198 0 0 0 194 0 76 0 0 0
wHZ 0. lkg/Xv o 2|BF& 0 153 0 153 0 0 0 76 0 65 0 0 0
ADEE 0. 2kg/Xv v A= 0 1,148 246 1,394 0 0 0 86 0 54 86 0 54
SEL®HLC 0. 1lkg/ivo A= 0 255 0 255 0 0 0 0 140 0 0 0 0
FWE 0. lkgtv7o 15|35 0 114 0 114 0 0 0 0 124 0 0 0 0
NLYTFHFLYY 1 7kg FAES 0 153 0 153 0 0 0 8,640 0 3,240 0 0 0
JL—=7T7—Y 1T7kg 58| b3 0 187 0 187 0 0 0 5,940 0 3,240 0 0 0
MALEY 17kg FES 0 39 0 39 0 0 0 0 10,260 0 0 0 0
FamR>y 18FEF bkg 43| REAR 0 263 50 313 0 0 0 4,320 0 4,104 0 4,320 0
KNED 8. 2kg 84(F Y 0 98 410 508 0 0 0 5,616 0 3,240 0 5,076 0
NFF+ 1 3kg 65|74 UK 0 11,417 0 11,417 0 0 0 4,320 0 2,160 0 0 0
¥ ¥ & F 23 114,675 46,691 161,389 0 0 0 0 0 0 0 0 0
R E & F 0 18,045 10,308 28,353 0 0 0 0 0 0 0 0 0
b & B 23 132,720 56,999 189,742 0 0 0 0 0 0 0 0 0
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% 4 HIFE* O &l A
E EEH% - _ ca Y B B=F
Y GEbS) B=F &t — — —
m B =8 & LB =iE & LB =iE & LB
KR 1 Okg 9|#HA 0 15,250 2,600 17,850 0 0 0 1,728 0 1,080 1,728 0 1,080
AL 10kg 36|85 0 3,930 0 3,930 0 0 0 3,780 0 2,700 0 0 0
H¥ 10kg 8|k 0 2,070 0 2,070 0 0 0 1,728 0 864 0 0 0
Fr~NY 10kg 12| F% 0 19,520 3,410 22,930 0 0 0 0 1,512 0 0 1,512 0
IEFINAE 0. 2kg® 10|74 5% 0 325 0 325 0 0 0 76 0 65 0 0 0
2 L bke 111/ =E 0 1,286 255 1,541 0 0 0 4,104 0 2,376 4,104 0 2,376
IZo 0. lkg=® 39|&%0 0 663 0 663 0 0 0 86 0 76 0 0 0
L&X 10kg 8|k 0 470 0 470 0 0 0 3,024 0 1,836 0 0 0
I Skg 12| F% 0 2,725 0 2,725 0 0 0 0 2,268 0 0 0 0
MF 0. 37kgx 20A 39|= A0 0 1,200 228 1,428 0 0 0 0 162 0 0 162 0
k<t 4kg 9|#HA 0 2,808 0 2,808 0 0 0 0 1,620 0 0 0 0
IZbhvbh 0. 2kg/¥v 7 10|74 5% 0 1,253 0 1,253 0 0 0 162 0 32 0 0 0
E—<> 0. 15kg 45|25 0 1,071 75 1,146 0 0 0 108 0 86 108 0 86
HEE bLkg 8|2k 0 1,595 0 1,595 0 0 0 1,620 0 1,296 0 0 0
E#E L 10ke 46(R 1R 0 240 1,000 1,240 0 0 0 4,320 0 4,104 4,320 0 4,104
X—=24>» L 10kg Elo:3E 0 10 0 10 0 0 0 3,240 0 2,808 0 0 0
BB L 10ke 1|duia 0 1,500 0 1,500 0 0 0 2,376 0 1,944 0 0 0
FEWRF 1 0kg 2|E&H 0 500 0 500 0 0 0 3,564 0 1,080 0 0 0
TRERF 12kg 2|E&H 0 3,372 5,436 8,808 0 0 0 3,564 0 540 3,564 0 540
EFA LK 20kg El#:3E 0 5,810 3,770 9,580 0 0 0 3,240 0 3,024 3,240 0 3,024
ICAIZC 1kgxwv b ACES 0 1,643 0 1,643 0 0 0 1,836 0 1,080 0 0 0
EHE 0. lkg/tv o ACES 0 114 0 114 0 0 0 194 0 76 0 0 0
wHZ 0. lkg/Xv 7o 2|5 0 189 0 189 0 0 0 76 0 65 0 0 0
ZADEEH 0. 2kg/fv 7 A= 0 288 0 288 0 0 0 86 0 54 0 0 0
Lol 0. lkgiv s A= 0 114 0 114 0 0 0 0 140 0 0 0 0
FWE 0. lkg/tv o 15(#T8 0 139 0 139 0 0 0 0 124 0 0 0 0
N 7HLrY 1 Tke 70K 0 51 0 51 0 0 0 0 8,640 0 0 0 0
HEM 10kg 46|EEIR 0 525 0 525 0 0 0 3,024 0 2,160 0 0 0
JL—77)—y 17Tkg 58( ks 0 51 0 51 0 0 0 0 5,940 0 0 0 0
BMALEY 17kg 70K 0 170 0 170 0 0 0 10,260 0 6,480 0 0 0
73Ry 18F%F 5kg 43[R 0 0 950 950 0 0 0 0 0 0 0 3,456 0
Fr&C 2 0kg AE S 0 3,200 0 3,200 0 0 0 9,180 0 4,590 0 0 0
BES 8. 2kg 84|17V 0 385 0 385 0 0 0 5,616 0 3,240 0 0 0
NFF 1 3kg 65(74 UV 0 6,485 67 6,552 0 0 0 4,158 0 2,160 0 3,240 0
B X & 3 13 72,934 16,999 89,946 0 0 0 0 0 0 0 0 0
2 £ & 3 0 14,987 2,887 17,874 0 0 0 0 0 0 0 0 0
8 a B 13 87,921 19,886 107,820 0 0 0 0 0 0 0 0 0
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% 4 HIFE* O &l A
E EEH% - _ ca Y B B=F
Y GEbS) B=F &t — — —
m B =iE & LB =iE & LB =iE & LB
KR 1 Okg 9|#HA 0 12,373 650 13,023 0 0 0 1,728 0 1,080 1,728 0 1,080
AL 10kg 36|85 0 2,390 20 2,410 0 0 0 3,780 0 2,700 3,780 0 2,700
JIE5 4dkg 2|E&H 0 3,948 5,064 9,012 0 0 0 1,944 0 324 1,944 0 324
H¥ 10kg 8|k 0 2,380 740 3,120 0 0 0 1,728 0 864 1,728 0 864
Fry~NY 10kg 12| F% 0 8,200 1,500 9,700 0 0 0 0 1,512 0 0 1,512 0
IEFINAE 0. 2kg® 10|74 5% 0 1,870 15 1,885 0 0 0 76 0 65 76 0 65
2 L bke 111\ =E 0 3,964 420 4,384 0 0 0 4,104 0 2,376 4,104 0 2,376
IZo 0. lkg=® 39|&%0 0 245 0 245 0 0 0 86 0 76 0 0 0
L&X 10kg 8|k 0 970 0 970 0 0 0 3,024 0 1,836 0 0 0
I Skg 12| F% 0 4,580 0 4,580 0 0 0 0 2,268 0 0 0 0
k<t 4kg 9|#HA 0 2,510 0 2,510 0 0 0 0 1,620 0 0 0 0
IZbhvbh 0. 2kg/¥v 7 10|74 5% 0 1,656 0 1,656 0 0 0 162 0 32 0 0 0
E—<> 0. 15kg 45|25 0 1,737 0 1,737 0 0 0 108 0 86 0 0 0
HEE bLkg 8|2k 0 3,065 1,210 4,275 0 0 0 1,620 0 1,296 1,620 0 1,296
E#E L 10ke 46|EEIR 0 1,280 0 1,280 0 0 0 4,320 0 4,104 0 0 0
FEWRF 1 0kg 2|E&H 0 9,270 2,960 12,230 0 0 0 3,564 0 1,080 3,564 0 1,080
TRERF 12k 2|E&H 0 4,128 0 4,128 0 0 0 3,564 0 540 0 0 0
EFH LK 20kg 1|dtia 0 13,010 1,650 14,660 0 0 0 3,240 0 3,024 3,240 0 3,024
ICAIZC Tkgxv b ACES 0 457 1,230 1,687 0 0 0 1,836 0 1,080 1,836 0 1,080
EHE 0. lkg/tv o 2|5 0 99 3 102 0 0 0 194 0 76 194 0 76
wHZ 0. lkg/Xv 7o ACES 0 297 0 297 0 0 0 76 0 65 0 0 0
ZADEEH 0. 2kg/fv 7 A= 0 676 144 820 0 0 0 86 0 54 86 0 54
Lol 0. lkgiv o A= 0 389 0 389 0 0 0 0 140 0 0 0 0
FWE 0. lkg/tv s 15(#8 0 160 0 160 0 0 0 0 124 0 0 0 0
Ny 7HLry 1 Tke 70K 0 85 340 425 0 0 0 8,640 0 7,560 6,912 0 5,832
HEM 10kg 38| FE 0 1,030 0 1,030 0 0 0 3,780 0 2,160 0 0 0
JL—77)—y 17Tkg 58( ks 0 17 0 17 0 0 0 0 5,940 0 0 0 0
BMALEY 17kg 70K 0 153 0 153 0 0 0 0 10,260 0 0 0 0
73Ry 18F%F 5kg 43(REA 0 273 360 633 0 0 0 4,320 0 4,104 0 3,888 0
Fr5&C 1 0kg 55 0 1,800 0 1,800 0 0 0 7,020 0 5,940 0 0 0
EMYAZT 10kg 2|E&H 0 880 0 880 0 0 0 6,480 0 4,104 0 0 0
BES 8. 2kg 84|17V 0 188 0 188 0 0 0 4,860 0 3,780 0 0 0
NFF 1 3kg 65(74 UV 0 8,376 223 8,599 0 0 0 4,320 0 2,160 3,240 0 3,024
B X & 3 64 90,107 15,810 105,981 0 0 0 0 0 0 0 0 0
2 £ & 3 0 17,801 1,750 19,551 0 0 0 0 0 0 0 0 0
s = i 64 107,908 17,560 125,532 0 0 0 0 0 0 0 0 0




